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Sl. No.1
QBID:1007351

From among the four options given. choose the most appropriate sequence of the four phrases
given below. to make a meaningful sentence :

{A) turn to the next page

(B) once vou get to the end

(C) to find the correct answers

(D)  of the quiz

Choose the correct answer from the options given below :
(1) (A). (C). (B). (D)

(2) (D). (B). (C). (A)

(3) (B). (D). (A). (C)

(4) (C). (A). (D). (B)

(1) 1
(2) 2
3) 3
(4) 4

Ffertiga 1 =9 == ®49 @1 27
1 = 2 =
3 3 4 =

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25301]
2[Option ID=25302]

3[Option ID=25303]
4[Option ID=25304]

Sl. No.2
QBID:1007352

Choose the correctly spelt word.
(1) Egaliterian (2) Egalitarian
(3) Egalitirian (4) Egaletarian




1) 1
(2) 2
3) 3
(4) 4

Frefettga & @ =9 = 9 aowa 27
(1) =+ (2) foam

(3) TeATs (4) A

o |

(1) 1
(2) 2

3) 3

(4) 4

1[Option ID=25305]
2[Option ID=25306]

3[Option ID=25307]
4[Option ID=25308]

Sl. No.3
QBID:1007353

Choose the correct sentence.

(1) Camera 1s piece of equipment used to take photographs.
(2) Camera 1s a plece of equipment used for taking photographs.
(3) Camera 1s a piece of equipment used to taking photographs.
(4) Camera 1s the piece of equipment used on taking photographs.
(1) 1
(2) 2
3) 3

(4) 4




T-1 5 Ty geft-I1 =1 e Fifem

TT-1 =111
TS 7755, THTE T TN
(A) TR D e e
(B) TR D %z
(C) =t (I =wsifz
(D) == 9™ IV) =& T

= fou U fawedl § °© "El 39 @ 999 Hhifen

(1) (A)-ID. (B)-(IV), (C)-(III). (D)-(I)
(2)  (A)-AQV). (B)-(II). (O)-(D. (D)-(II)
(3)  (A-AV). (B)-(D. (O)-ID), (D)-IIL)
@) (A)-ID), (B)-D). (C)-(D). (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25309]
2[Option ID=25310]

3[Option ID=25311]
4[Option ID=25312]

Sl. No.4
QBID:1007354

Matech List T with Last I1.

List I List IT
(word) (antonym)
(A) lively (I)  comfort
(B) release (IT) discredit
{(C)  bother (ITT) check
(D) appreciate (IV) dull

Choose the correct answer from the options given below :
(1) (A)-(IV). (B)-(I1II). (C)-(I). (D)-(1I)
(2) (A)-(I1T). (B)-(IV). (C)-(I). (D)~(1I)
(3) (A)-(II). (B)-(IV). (C)-(I). (D)-(I1II)
(4) (A)-(IV). (B)-(IT). (C)-(I). (D)-(I1I)
1) 1
(2) 2
3) 3




(4) 4

FrefetEs 9 @ = o1 T faaeds 27

(1)  =rh 5y F fom e 3 (2) @t i woor % fom ey
(3) = S fgEE T8 1S © (4) 1 =t S e s
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25313]
2[Option ID=25314]
3[Option ID=25315]
4[Option ID=25316]

Sl. No.5
QBID:1007355

From among the four options given. choose the word that 1= opposite In meaning to
‘professional’

(1) Unemploved (2) Student

(3) Amateur (4) Executive

(1) 1

(2) 2

3) 3
(4) 4

TFeffas @ ¥ g 999 =T

(1) o9 7S 98 M 9EL &l S| (2) a9 98 FH S B S|
(3) & T% FH & &l S| (4) d9 9% M i SEC 7 A0
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25317]
2[Option ID=25318]
3[Option ID=25319]
4[Option ID=25320]

Sl. No.6
QBID:1007356




Identify the correct direct narration for the following sentence.

Mot1 asked Gangu whether the latter was in his sense.

(1) "Hey Gangu. are vou 1n vour senses now? asked Moti.
(2) “Gangu. have vou lost vour senses?” asked Moti.
(3) “(GGangu. are you 1n yvour senses?” asked Mot1.
(4) “Are vou senseless. Gangu?” asked Mot1.
(1) 1
(2) 2
(3) 3
4) 4
frefetlaa @ ugl =+t @5t #9 9 wmsy

(A)  IfsTr iR gEEEA % EER g 9
(B) 9= T THEI T % fag
(C) =R I T Fd BT
(D) == 1 A HAT =906
(B) i ik g=a amfi |
Ha fou v fameal A @ T I 1 == it
(1) (B). (C). (E). (D), (4)
2 (A). B). (D). (C). (E)
3)  (B). (A). (O). D). (E)
4 (D). (E). ®B).(©). &
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25321]
2[Option ID=25322]
3[Option ID=25323]
4[Option ID=25324]

Sl. No.7
QBID:1007357

Which of the following 1s a one-word substitute for ‘a government by the wealthy™?

(1) oligarchy (2) aristocracy
(3) plutocracy (4) kelptocracy
(1) 1
(2) 2
(3) 3

(4) 4




ffefEaa 9 ° a7 & gaEre ot gE=iE

A e
(B) A=A
(C) dE®
D) 7w
E® T

Hr= feu U fammedl | O TRl IO w1 =999 i
(1) Fa= (A). B)

(2) FEd (B). (O)

(3) &« (A). (O). D)

(4) =& (O). (B)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25325]
2[Option ID=25326]

3[Option ID=25327]
4[Option ID=25328]

Sl. No.8
QBID:1007358

Pick out the synonym of the following word.

Optimist

(1) destructive (2) disappointed
(3 hopeful (4) funny

(1) 1
(2) 2
(3) 3
(4) 4




Fft-1 % = -1 = e fifs

THt-1 THt-11
(A) T anfi w sfasr =t @ faafzan
(B) gd, 9=, F49H AT (D) ==
(C) T5= =i =1 f==m= = T (IIT) ==
(D) =l aF & o Iv) frwre gt

4= feu o fawel © O wE I w1 999 Hi

(1) (A)-aD). (B)-(D. (C)-(IV), (D)-(IIL)
@2 (A)-D. (B)-IID). (O)-ID). (D)-(IV)
(3)  (A)-(ID), (B)-(IV). (C)-(D). (D)-(II)
4  (A)-AV). (B)-(1I). (C)-(III). (D)-(I)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25329]
2[Option ID=25330]

3[Option ID=25331]
4[Option ID=25332]

Sl. No.9
QBID:1007359

Fill up the blank with the correct form of verb :

Neither of the two plans approved.

(1) were (2) was
(3) were being (4) had
(1) 1

(2) 2

(3) 3

(4) 4




i S -
ATRIHAT JeaT-Y,

(A) W WS TS

(B) =S AW W GHS! 7 A
(C) ==l 7R

(D) FE A ® TRl A @

(E)  =reri-gm o

H= fou e TFeal § ° T8 398 #9599 i

(1) =& (A) 3R (C)
(2)  waw (B) #R (D)
(3)  ¥aEw (C) 3R (E)

(4)  =ae (A) i (B)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25333]
2[Option ID=25334]

3[Option ID=25335]
4[Option ID=25336]

Sl. No.10
QBID:1007360

Identify the passive voice for the following sentence.

Do not insult the poor.

(1) The poor are not insulted. (2) The poor should not be insulted.
(3) Let the poor not be insulted. (4) Let the poor be not insulted.

(1) 1

(2) 2

(3) 3

(4) 4




THzsi s e m?

Fe [ Towm & wsg 3tk ug v i geegel seEA 2, A w0 sl e s w0 areE
& 21

woA [1:  91%5 ol T Rl S=a9 3 o1 TR Tel 5 S a9

I FUA F AE 1, 9 5w e fTwea 9 9 g6 3 9= il

(1) =+ I3 [ 59 2

(2) =y I3 Il Gl 378 B

(3) A 19eA 7, otk %o [0 3187 2

(4) FF I 3EA 7, ©ifhd ®9E [0 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25337]
2[Option ID=25338]

3[Option ID=25339]
4[Option ID=25340]

Sl. No.11
QBID:1007361

Member of Parliament will lose his membership if he is continuously absents from his
sessions for -

(1) 30 days (2) 60 days
(3) 90 days (4) 120 days

(1) 1
(2) 2
(3) 3
(4) 4

THZ % 95 = Haedal 99 B S atg 98 9 ¥ e e T 9% oeteE e

(1) 30f= (2) 60 ==
(3) 90 f= (4) 120 A
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=25341]
2[Option ID=25342]
3[Option ID=25343]
4[Option ID=25344]

Sl. No.12
QBID:1007362

When value of money exceeds the commodity value of money. it is called
(1) Full bodied Money (2) Credit Money
(3) Fiat Money (4) Fiduciary Money

(1) 1
(2) 2
(3) 3
(4) 4

79 g1 71 474 951 % vF 49 § Al 2 7 2, 98 T 2

(1)  ogea gz (2) T A
(3)  wfufze gm (4) Tavam gm
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25345]
2[Option ID=25346]
3[Option ID=25347]
4[Option ID=25348]

Sl. No.13
QBID:1007363

Which of the following will become the first multilateral agency to open an office in the
Gujarat International Finance Tech City (GIFT)?

(1) Asian Development Bank (2) Jorld Bank

(3) New Development Bank (4) International Monetary Fund
(1) 1
(2) 2
(3) 3

(4) 4




T 2EYAE B1d 2% e (fe) 3 Faiem ges awft gum s2ed vag Gefafea 8 o 56 347

(1)  vufvEE fT=m 3% @ fava ¥
@ 7 fawm (4) v o
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25349]
2[Option ID=25350]
3[Option ID=25351]
4[Option ID=25352]

Sl. No.14
QBID:1007364

Name the first Indian firm which has entered the so-called global carbon market through the

farm sector

(1} nurture farm (2}  nature farm
(3) unique farm (4) carbon farm

(1) 1
(2) 2
(3) 3
(4) 4

FT & GRT T91 Hied AT Fe ST6R T TG FH G TIH GRGE S08E w1 A a6
(1) =R (2) =

(3) = B (4) A HH
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25353]
2[Option ID=25354]

3[Option ID=25355]
4[Option ID=25356]

Sl. No.15
QBID:1007365




A retired judge of a High Court is permitted to practice as a lawyer in

(1) Supreme Court of India
(2) Any Court of India
(3) High Courts other than the one from where he retired

(4) (1) and (2) only

(1) 1
(2) 2
(3) 3
(4) 4

= A % Hal-ad A B FaEl W AT F9 H Tohieid F i STArd af S 2 ¢

(1) A4 ¥ 99i= =Eed |

(2)  4rEa | = oft =maem |

(3) =1 ¥ 9% HaI-g §oT 35 Al IoF =AM |

(4)  =HEE (1) 3 (2)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25357]
2[Option ID=25358]

3[Option ID=25359]
4[Option ID=25360]

Sl. No.16
QBID:1007366




Invariable Concomittance relations are like :

(A) The relation between Tree and Fruit
(B) The relation between Fire and Coolness
(C) The relation between Smoke and Fire
(D) The relation between Earth and Smell

(E) The relation where absence of one 1s the negation of other

Choose the most appropriate answer from the options given below:

(1) {A) and (D) only
(2) (A). (B) and (C) only
(3) (C) and (E) only

(4) {A). (D) and (E) only




I HeatadT @y =1 = @9 Bid & -
(A)  F¥ AR B F o= F A

(B) =t @i fiaeran = s # Ty
(C)  gm 3R =117 % o= =1 Ty

D) Tagd/ e s Ty % o ey

(E) =% oea-y Tomd v i sufeafa on = g 2

Fi= fou v faseal § o wed IUgeE I H = i

(1) e (A) 2R (D)
(2)  FE (A). (B) 3R (C)
(3) ¥4 (C) ¥R (E)
(4)  “ad (A), (D) #R (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25361]
2[Option ID=25362]

3[Option ID=25363]
4[Option ID=25364]

Sl. No.17
QBID:1007367




Match List I with List IT :

Last I
(A) Philosopher
(BY Truth
(C) Tongue

(DY Man

Last IT
() Rational
(IT) Taste
(IIT) Idea

(IV) Eternal

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(I). (C)-(II). (D)-(III)
(2) (A)-(IT). (B)-(I). (C)-(IV). (D)-(I1I)
(3) (A)-(IIT). (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-(ITI). (B)-(II). (C)-(I). (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4
Ii-1 2 =1 geit-11 =1 e Fife
-1
(A) TEES
(B) ==
(C) TS
(D) 99

4= fou v faeal @ ° wE I % 999 Hiw

(1) {(A)-(TV). (B)-(I). (C)-(II). (D)-(I1I)
(2) {(A)-(IL). (B)-(D). (C)-(IV), (D)-(I1I)
(3) {(A)-(ITT). (B)-(IV). (C)-(ID). (D)-(D)

(4) (A)-(IIL). (B)-(IL). (C)-(I). (D)-(IV)

TET-11
(I) s
(I) ¥amg
(1) fa=m

(IV) =mg=d




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25365]
2[Option ID=25366]

3[Option ID=25367]
4[Option ID=25368]

Sl. No.18
QBID:1007368

Put all the statements 1n a specific order. Choose the option which indicates a valid argument
containing logical statement that is. where the third statement is a conclusion from the
preceding two statements :

(A) All Cats are Pens

(B) All Dogs are Pens

(C) All Dogs are Cats

(D) Some Dogs are Pens

(E) Some Pens are Cats

() No Cat 1s Hen

Choose :

(1) (C). (D). (E)
(2) (A). (C). (D)
(3) (B). (E). (F)
(4) (C). (E). (F)

(1) 1
(2) 2
(3) 3
(4) 4




= fou o el w0 ww Ffvsa w6 than) gl FE e 39 996w Ewen 9, Ui m dE
FU I hadi of art o feed % w9 b e a7 -

(A) T fefgar =em 3
(B) TR T FT B
(C) =R fafgar 21
D) T3 Fd o &
(E) Fo %M fagt 2
(F) s fag goft =21 21
I Tame
(1) (C). (D). (E)
(2) {A). (C). (D)
(3) (B). (E). (F)
(4) (C). (E). (F)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25369]
2[Option ID=25370]
3[Option ID=25371]
4[Option ID=25372]

Sl. No.19

QBID:1007369




Matech List I with List IT :

List I List IT
(A) Bees (D Consciousness
(B) Mind (I) Poison
(C) Snake (III) Honey
(D) Human (IV) Thought

Choose the correct answer from the options given below :

D @-O. ®-D). (C)-dD). (D)-AV)
(2)  (A-D. B)-AV). (O)-1). D)-D
3  (A)-aV). B)-I. (C)-@). D)-I1D)
4 (A-ID). B)-IV). (C)-(I). (D)-(D)

(1) 1
(2) 2
(3) 3
(4) 4
-1 % w19 gi-11 F1 faes i
-1 it
(A)  wemfFE (I) =&
(B) =T (I faw
(C) =d (IIT) =&
(D) == (IV) @i
9 fou v faweqi A O w8 I w1 =99 Hibee

(1) (A)-(T). (B)y(IIT). (C)-~(ID). (Dy-(ITV)
(2) (A)-(II1). (B)-(IV). (C)-(ID. (D)-(D)
(3) {(A)-(IV). (B)-(II). (C)-(I), (D)-(11I)

(4) (A)-(IT). (B)-(IV). (C)~(III). (D)-(I)




(2) 2
(3) 3
(4) 4
1[Option ID=25373]
2[Option ID=25374]

3[Option ID=25375]
4[Option ID=25376]

Sl. No.20
QBID:1007370

Match List I with List IT :

List I Last IT
(A) Forest (I)  Bacteria
(B) Milk (II) Taste
(C) Water (ITTy Trees
(D) Food (IV) Oxygen

Choose the correct answer from the options given below :

(1) (A)-(IIT). (B)-(I). (C)-(IV). (D)-(II)
(2) (A)-(IV). (B)-(II). (C)~(III), (D)-(I)
(3) (A)-(I). (B)-(III). (C)-(IV). (D)-~(II)
(4) (A)-(IT). (B)-(IV). (C)-(IIL). (D)-(I)

(1) 1
(2) 2
(3) 3
(4) 4




-1 = geAt-11 =1 e Fife

(A)

(B)

(C)

(D)

g1 FI-11
= (I) =i
q: ) =
EG (IIT) F&a
RN (TV) ATadr=H

4= feu o fawedl § O o 39 w0 99A Fifw

(1) {(A)-(TIT). (B)y-(I). (C)-(IV). (D)-(IT)
(2) (A)-(IV). (B)-(II). (C)-(11I). (D)-(I)
(3) (A)-(I). (BY-(IIL). (C)-(IV). (D)-(IT)
(4) (A)-(II), (B)-(IV). (C)-(I1ID). (D)-(Dy

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25377]
2[Option ID=25378]
3[Option ID=25379]
4[Option ID=25380]

Sl. No.21
QBID:1007371
The polynomial plx)=ax®+bx*+x—-6. when divided by

x+2 and x—2 leaves the

remainders 0 and 4 respectively. then

1) a=2.b=0 Gy e 2
B 4

(3) a=0.b=2 (4) a:i.b=_1
4 3

(1) 1

(2) 2

(3) 3

(4) 4




& FETEE plx)=ax®+bx’ +x -6 F x+2 I x—2 F fFwiwa fFw 50 2 G 79 FE@: 0 IR 4
A E T

(1) a=2.b=0 & -2t pB

) 4

5 o

: s 3
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25381]
2[Option ID=25382]
3[Option ID=25383]
4[Option ID=25384]

Sl. No.22
QBID:1007372

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as
Eeason R.

Assertion (A) : If the areas of two circles are in the ratios 16: 25 then their circumferences
are in the ratio 4:5

Reason (R) : If the areas of two circles are in the ratios A : A then their circumferences
are in the ratio /A, : /A, |

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct
(4) {A) 15 not correct but (R) 1s correct
(1) 1
(2) 2
(3) 3

(4) 4




Hi= ot wue fge 7 F ;v wfyeE (Assertion (A)) % ®9 ° fofga & @ T 8% F1 (Reasons (R))
HETH

afue (A) afg Q1 et & &% P I 16 : 25 2 a1 396 IRiT F FIE 4 ;5 w5
FR (R) : afe 31 g1 % BTG 1 AW A, : A, B a9 39 uily %1 sEuE \[4, :JA, '
IWH FYA F AAF 4, i 5o o T 9 9 g6 39 w1 =95 i

(1)  (A) 3R (R) gHi &c & 3 (R), (A) h 9et = &

(2) (A IR (R) SHI °ea &, =it (R), (A) i 921 =mem 181 2

(3) (A) Teq 7, =it (R) 3197 &
(4)  (A) 3@ 76 B, oiEa (R) TeF 2

1)1
2 2
(3) 3
(4) 4
1[Option ID=25385]
2[Option ID=25386]

3[Option ID=25387]
4[Option ID=25388]

Sl. No.23
QBID:1007373

The diameter of a sphere 1s 6 cm. It 1s melted and drawn into a wire of diameter 4 mm. Then
the length of wire is
(1) 54 m 2y 36m
(3) 18 m (4 9m
(1) 1
(2) 2
3) 3
(4) 4

UF i 1 =AH 6 OH1. 7| SO [UHeE 4 ToHT. SO w1 UF aF s Sl 2| Al a7 SRl o 991 B e

(1D 54 Ht. (2) 36 Hi.
(3) 18 #i. (4) 9.

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25389]
2[Option ID=25390]




3[Option ID=25391]
4[Option ID=25392]

Sl. No.24
QBID:1007374

If @ and b are the roots of quadratic equation x* +ax—-b=0 and b= 0. then

1 1

1)  a=-1l.b=- (2 a==,b=-1
2 2
: ; 1
'[31? a=-—1. E?Zz {4} a=1. E?ZE
(1) 1
(2) 2
(3) 3
(4) 4
A o @R b A o  ax-b=0F gF E A
(1) a=—1.b=l (2) a=l.b=—1
2 2
. 1
(3) a=-1.b=2 (40 a=1. b=§
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25393]
2[Option ID=25394]
3[Option ID=25395]
4[Option ID=25396]

Sl. No.25
QBID:1007375

A three digit number 1s chosen at random. the probability that its hundred’s digit. ten's digit
and unit's digit's are consecutive integers in descending order. 1s

(1) L_ (2) 2
45 225
4 1

(3) E (4) ﬁ

(1) 1

(2) 2

(3) 3

(4) 4




T 3T ATl T Anfess I S 21 $EE A6ST, TR, $HE § ATl ol AR 3TEa w0 5 o7 H
TRl =1 B 7

(1) L_ (2) ih
45 225
(3) 4 (4) _i
2925 [is)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25397]
2[Option ID=25398]
3[Option ID=25399]
4[Option ID=25400]

Sl. No.26
QBID:1033001

Find @ x (b x )

where, E:fij—é
5:e—j+k
E::—j—f
(1) L
(2) 2i-2j
(3) 2j-2i
(4) 3=
(1) 1
(2) 2
(3) 3

(4) 4




) j-i

1) 1
(2 2
3) 3
(4) 4
1[Option ID=24101]
2[Option ID=24102]

3[Option ID=24103]
4[Option ID=24104]

Sl. No.27
QBID:1033002

Given, A=x"+y + 7'
x =rsin B cos ¢|
y =rsin B sin ¢

z=rcose

d
Then, —— wvalue will be

ar

(1) r
(2) r
(3) r
(4) 2

(1) 1

(2) 2

(3) 3

(4) 4




'«‘1'1;'\'4{.*%.—:1::+;.f':+;c3

x—rsinecua{b

y=rsin B sin 11)

z=rcos B

(4)

(1) 1
(2) 2
(3) 3
(4) 4

Sha

2r

1[Option ID=24105]
2[Option ID=24106]
3[Option ID=24107]
4[Option ID=24108]

Sl. No.28
QBID:1033003

Integrating factor of the differential equation,

(1)

(2)

3)

(4)

(1) 1
(2) 2
(3) 3
(4) 4

dy

X

+ Py = (O is given by




Wﬂﬁ'ﬂﬁ? + Py = Q¥ ##T%e I0F (LF.) ¥
X

(1) I-F-—-J Qdy
(2) LF.= f Pdy
(3) LF.= f Pdx

(4) LF. = f Qdx

1)1
(2) 2
3) 3
(4) 4
1[Option ID=24109]
2[Option ID=24110]

3[Option ID=24111]
4[Option ID=24112]

Sl. No.29
QBID:1033004

Among the following equations, which is a homogeneous equation ?

(1) dy @+ 22

dx T 22 + 3y
2 dy 23 + y?
dx T 32+ 22
(3) dy  x2+y?
dx — x4+ 2y
) dy  x2 + 22
dx T 22 + 42
(1) 1
(2) 2
(3) 3

(4) 4




A AT § 19T SH 600 FATH 4 2 7

(0 dy X2 + 2y?
il
(2) dy % + ya
i
(3) dy x*+y?
dx 32+ 2y
(4) d)r‘ X2 + 2F2
dx T 22 + 4y?
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24113]
2[Option ID=24114]
3[Option ID=24115]
4[Option ID=24116]

Sl. No.30
QBID:1033005

Ifx+y+z=a,y+z=ab,z=abc. The \-'alueof—a{x' y,2) is
d(a, b, c)
(1) _a’b
(2) a’b
(3) ab’
(4) —ab’
(1) 1
(2) 2
(3) 3
(4) 4
s Kl 'l -
'«‘lﬁx+}-+z=u,y+z=ub,z=ahc?l'l’—a( y 2 T HTA BT
d(a b, c)
(1) —a'b
(2) a’b
(3) ab?
(4) — ab’

1)1




(2) 2
(3) 3
(4) 4

1[Option ID=24117]
2[Option ID=24118]
3[Option ID=24119]
4[Option ID=24120]

Sl. No.31

QBID:1033006

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.
Assertion A :

1+ 2

Modulus of the complex number Lo U = i}E‘ is 1.

Reason R .
Multiplication of 3 + 41 with 7 — 31 gives result as 33 + 19i.
In the light of the above statement, choose the correct answer from the options

given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A are R are true but R is not the correct explanation of A
(3) A is true but R is false
(4) A 1s false but R is true
1) 1
(2) 2
3) 3

(4) 4




fETTFmETIE: T AT T AT 2 AT O IE FETRF

FTH |
FroTFegT A -

1+ 2
AT EE (1 = )2 FTHZATE |

FITUR :
3+ 41 FAT 7 — 31 FTAAEA 33+ 19i F |
T FAAT F A H, A9 B0 v et § |/ 980 39 7 999w

(1 A #T R 341 727 € @7 R, A 1 781 == 8

(2) A 7 R ZE1 727 2, A4 R, A it 721 =1 781 2
(3) AT 2, AfFT RaAT

(4) AFaT g, AfFT R AT E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24121]
2[Option ID=24122]

3[Option ID=24123]
4[Option ID=24124]

Sl. No.32
QBID:1033007

Given below are two statements :

Statement I :

The order of a differential equation is the order of the highest differential
coefficient present in the equation.

Statement Il

The degree of a ditferential equation is the degree of the lowest derivative after
removing radical sign and fraction.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both statement I and statement II are correct

(2) Both statement I and statement Il are incorrect
(3) Statement [ is correct but statement 11 is incorrect
(4) Statement [ is incorrect but statement II is correct

(1) 1




(2) 2
(3) 3
(4) 4

FIT] :

HATAT THIF T FIL, THHT § IURIT TZTH ATFAT TO0F FT FI{Z 2 |
FATII :

FAFAT AUTF0T 1 oY, Tt § oAy qaFa &1 9oit, 39 9+ =T 7 fa=
GRAEC AL

TICIE FAAT F AT °, A9 =Z0 a0 FFeTt § F 799 T 397 7 AT FraA

(1) F99 | T F49 [ TAT 721 7
(2) F49 1 37 49 11 4T 799 &
(3) FIT ARl 2, AEA FAT I TET 2
(4) FIT T 2. A FIT AT 2
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24125]
2[Option ID=24126]
3[Option ID=24127]
4[Option ID=24128]

Sl. No.33
QBID:1033008

A fluid motion given by v = (14 2)i +(z+x) j+(x+ y)kis

(1) Solenoidal
(2) Rotational
(3) Both solenocidal and rotational
(4) Irrotational
(1) 1
(2) 2
3) 3

(4) 4




F=(t+2)i +(z+x) j+(x+ )k ZTT T T A R B

(1) RIEClEEIR)

@ off
3) It TRATEARRT AT o

4) et

1) 1
(2 2
3) 3
(4) 4
1[Option ID=24129]
2[Option ID=24130]

3[Option ID=24131]
4[Option ID=24132]

Sl. No.34
QBID:1033009

Which of the statements given below are correct?

A If the dot product of two vectors is zero, then vectors are perpendicular
to each other.

B Work done 1is a dot product of force and displacement.

C. Vector product 1s commutative.

D Vector product 1s associative with respect to a scalar.

E. The scalar product of two non-zero vectors 1s always positive.
Choose the comrect answer from the options given below :

(1) AandC
(2) BandC
(3) A BandD
(4) CandE
(1) 1

(2) 2

3) 3

(4) 4




At =7 AfZer F1 A= TR 7 & a1 F UF gAL F A Eaq 8 |
T T T == AT AT T gt e 2

afzer e w9 AT EET E

T2 AR TF AR F TG H ATEAL 2

a1 |fem St 7 7@ ' # afEe e i g EET g |

A= 30 o EFeuT § |/ HEr 39 F7 F4T I

mo 0w p

eI FAT g T AT AET 2 0
(1) ATarC
(2) B 74T C
(3) A, BTaTD
4) CT4TE
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=24133]
2[Option ID=24134]
3[Option ID=24135]
4[Option ID=24136]

Sl. No.35
QBID:1033010

Match List I with List II :

List I List IT
2 2
4 Transverse vibration of a I aTy _ a7y
° string : ate ax2
2 2
acu 1 du 1 9¢u
B, Two-dimensional heatflow . —— 4+ — — 4+ — — =10
ar rar P 96
2
C.  One-dimensional heat flow I ﬂ = ¢ M
at ax?
. a°u a%u
D Tu'n—u’m:emmnaf heat flow v i )
in polar form ax2 3 ]"2

Choose the correct answer from the options given below :

1) ATV, B-1, C-H, D1

f2) A-II, B-Hil, C-f, DIV

f3) AL BV, C-Hi DT

f4) A-I1, B, C-1V, D1
1) 1

(2) 2




(3) 3
(4) 4

AT 15 |1 T 117 Faers e

qHT 1 AT I

A TETET R AT FE L It3‘—2’3{:(;2‘3—
“ at2 ax2
32u 1 au 1 3%
B. fE-smandt st w7 . — + —— + — — =
arr  r ar P @
2
u u
C. UFA-AATH ZoaT T927  1IL a_=c2'5'_
at x2
o T ETE e a°u " %u 0
oy Coax2 0 ay?
A= B o Ee § 7 #ET 39 F°7 9949 fre
(1) A-1V, B-1, C-I1, D-III
(2) A-IL, B-III, C-I, D-IV
(3) A-1, B-IV, C-1I11, D-II
(4) A-IIL B-1I1, C-IV, D-1
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24137]
2[Option ID=24138]
3[Option ID=24139]
4[Option ID=24140]

Sl. No.36
QBID:1033011

Given below are two statements :

Statement I :

The general displacement of a rigid body with one point fixed is a rotation about
same axis.

Starement If

The most general displacement of a rigid body is a translation plus a rotation.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both statement | and statement 11 are correct

(2) Both statement I and statement 11 are incorrect

(3) Statement I is correct but statement 11 is incorrect

(4) Statement [ is incorrect but statement II is correct
1) 1

(2) 2




(3) 3
(4) 4

faTrFgA RTar .
FITI

UF §¢ AR, N UF oy T ArEg F, T A A 07 THAT ST AT oA &
FITII

TULTE FAAT F ATAF H, A 30 W0 FFTT F 7 q99 TOYE ITL F AT FIAT

(1) FAT 1 AT F47 11 Z4T1 721 8
(2) FA9 | A7 F99 [1 Z1497 7947 2
(3) FA9 | HET 2, A Fa7 (1799 2
(4) FA 1 799 &, T 747 [ 721 2
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24141]
2[Option ID=24142]
3[Option ID=24143]
4[Option ID=24144]

Sl. No.37
QBID:1033012

The correct relationship between Cartesian coordinates (x, y, z) and the spherical
polar coordinates (r. B, (I)} is

(1) x=rsin@sin¢ry=rsinBcosfxr=rcos O
(2) x=rsin@cosgry=rsinBsingxz=rcos O

(3) x=ry=rsinBQ;z=rcos

(4) x=rcusB:y=rsinBcosl:lx.?_:rmsemsq)
(1) 1
(2) 2
(3) 3

4) 4




FATT ST (x, v, 2) TAT TAT g e (r. 0. P) ¥ 7t svae 2

(1) x=1‘si.t185i11¢‘.}'=1'3i_11ch¢:r=rc058
(2) x =rsin B cos qJ'. y=rsin B sin q): z=rcos B
(3) x=ny=rsin:z=rcos
(4) x=rcos B: y=rsin B cos ¢x z=1cos B cos P
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24145]
2[Option ID=24146]
3[Option ID=24147]
4[Option ID=24148]

Sl. No.38
QBID:1033013

Consider a planet moving in an elliptical orbit around the Sun. Which of the
following quantities will remain constant in a planetary motion as seen from the

Sun?
(1) Speed
(2) Angular Velocity
(3) Kinetic Energy
(4) Areal Velocity
(1) 1
(2) 2
3) 3
(4) 4

T U qF F AT AT UF 9949 T4 | A0 2 | TF F AT T2 A °
FIA-HT Trferat gt (Faw) = E e

(1) 1G]
(2) FrofrT 377
(3) s F=AT
(4) g 7
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24149]
2[Option ID=24150]




3[Option ID=24151]
4[Option ID=24152]

Sl. No.39
QBID:1033014

Given below are two statements :
Statement I :

The product of the area of cross-section and the speed remains the same at all points
of a tube in laminar flow.

Statement II :

If the pressure in a liquid 1s changed at a particular point, the change would be
transmutted m the entire liquid. with diminished magnitude

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both statement I and statement II are correct
(2) Both statement I and statement IT are incorrect
(3) Statement I 1s correct but statement IT 1s incorrect
(4) Statement I 1s mcorrect but statement IT 15 correct
1) 1
(2) 2
(3) 3
(4) 4
faTTFm ETaU
Feal

T AT F 7T F AT-TEHT TATE F ZTA = T9T AT FIE F GTE F (06T
T (&g T AHTE AT E

FATI :

a2 7= ¥ tedt Ao AR = s afafa g g A ag aiEar e e ¥ e
afRTT F = § #=ivd A1 E |

TULTTE FAAT F A |, A0 730 70 FEweTt § 7 /99 T I97 # T979 F

(1) FT 1 37 F49 [ 49T T2T 8

(2) F49 1 7 F49 11 =491 77 2
(3) FIT AT, AFA FAT I T &
(4) FIT IR, AT FIT AR E
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24153]
2[Option ID=24154]




3[Option ID=24155]
4[Option ID=24156]

Sl. No.40

QBID:1033015

Which of the statements given below are correct 7

A The linear momentum of a particle is independent of the frame of
reference.
B. The kinetic energy of a particle depends upon the frame of reference.
L In an elastic collision, the initial kinetic energy is equal to the final
kinetic energy.
D. In an inelastic collision, the kinetic energy first increases then
decreases.
E. In an elastic collision, the linear momentum is not conserved.
Choose the most appropriate answer from the options given below :
(1) A, B
(2) B.D,E
(3) B.C
(4) C.D.E
(1) 1
(2) 2
(3) 3
(4) 4
Fafafas saar H 7 Fa 721 2 2
Tt 7 =7 v T AR R A AT 2T 2 |
B. et o7 71 wfersr =t A= AT AT 2
TeATET ZF7 W, WL 0AF Tias Sal o7 257 F 918 A1a97 qia
FHAT F AT BT 2 |
D. ATATET ZF7 |, AT FAT T2 q5dl & A7 v 7=t 2|
E. TEATES ZF7 § T FAT HIA AR 2T 2

Fr=r fEm o Feat F | 999 T 39 T AAT Ao

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

A,B
B,D.E
B, C
C,D,E

1[Option ID=24157]
2[Option ID=24158]




3[Option ID=24159]
4[Option ID=24160]

Sl. No.41
QBID:1033016

A satellite is revolving round the Earth at a height of 3600 km. Then, the time
period of the satellite is

(Assume, Radius of Earth = 6400 km, Mass of Earth=6 * 10* kg)

(1) 2-77 hours
(2) 1-77 hours
(3) 1-61 hours
(4) 161 hours

1) 1

(2) 2

3) 3

(4) 4

TF ITAE TAT 7 3600 Fft. it T3 w7 39eht afwm #7721 2 | T IWE A
ATAFTT FATE ?

(@fz, ot i Brear = 6400 FRft, vt F e=mT = 6 X 107 )

(1 277 5=
(2) 1-77 5=
(3) 1-61 5=
(4) 161 5=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24161]
2[Option ID=24162]
3[Option ID=24163]
4[Option ID=24164]

Sl. No.42
QBID:1033017

A reference frame attached to the Earth

(1) is an inertial frame by definition.

(2) is an inertial frame because Newton's laws are applicable in this
frame.

(3) cannot be an inertial frame because the Earth is revolving around
the Sun.

(4) cannot be an inertial frame of reference because Newton's laws

are not applicable.




(1) 1
(2) 2
(3) 3
(4) 4

ToAT T A UF AIH BH
(1) THRATITATE UF T2 1T 549 2 |
(2) TE HEATT WH § T THH 7 F A AN Ee F |

(3) TF AT WH 721 21 THaT 119 TAT T4 F F100 AT THHAT F7 720

4
(4) TF FEET W Tl 81 THAT T THH =2 F w70 T2 2 |

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24165]
2[Option ID=24166]

3[Option ID=24167]
4[Option ID=24168]

Sl. No.43
QBID:1033018

Match List [ with List I :

List List I
A BiquartzPolarimeter L Optical refractive index
B. Michelson's Interferometer 11. Diffracting screen
C. Zone Plate I11. Mountings
D. Concave Grating V. Optical Rotation
Choose the correct answer from the options given below :
(1) A-IlL, B-III, C-1V, D1
(2) A-IV, B-1, C-1L, D-1II
(3) A-IIL B-1V, C-1, D-1I
(4) A-TIV, B-1I, C-1, D-1II
1) 1
(2) 2
(3) 3

(4) 4




=T 1% A1 AT 1 e Fiie

D.

il T 11

ATTFTES T H 12T L T AT
ATEFAT T (4127 IL. (EEERREE

T M. sy

Faq ST V. gerefir ot

= 20 0 et 7 7 721 397 1 =9 fife

(4)

(1) 1
(2) 2
(3) 3
(4) 4

A-IL, B-III, C-IV, D-1
A-1V, B-1, C-II, D-III
A-IIL B-1IV, C-1, D-1I

A-1V, B-II, C-1, D-III

1[Option ID=24169]
2[Option ID=24170]
3[Option ID=24171]
4[Option ID=24172]

Sl. No.44

QBID:1033019

Given below are two statements :

Statement I :

A Line spectra contains information about atoms.
Statement II -

A Band spectra contains mformation about molecules and atomic clusters.

In the light of the above statements, choose the correct answer from the options
given below :

(D
@
(3)
(4)
(1) 1
(2) 2

Both statement I and statement IT are true
Both statement I and statement II are false
Statement I is true but statement IT 15 false

Statement I 15 false but statement IT 15 true




3) 3

4) 4

F= T FaE fGw A g

FIT :

UF YT T # qHT it = AR St g
FHTII :

TF T TFZ H A9 U wHI A F 47y § g=ar AT S g
IULITh FAAT & AT H, A= 30 70 fGwe] § F 951 390 B =T749 D0

(1) FAT 1 37 FA9 [T a7 8
(2) F 1 3li% F9 1131 9T &
(3) T [ 7T g AT w97 11 70A ¢
(4) FIA ] ATA ¢, A AT T4 ¢
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24173]
2[Option ID=24174]
3[Option ID=24175]
4[Option ID=24176]

Sl. No.45
QBID:1033020




Motion of a Particle is shown in the figure. At which point does the particle have
unstable equilibrium ? (where U is the potential energy)

u .

} e ———— — — —
Y e e o e

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

ey Bl B~

e I & e oy i i ety w2 ) e g o For o afas Aaee g 2
(gt U Fafes 31t 2)

U
\ .
N Y
Bl B
| | I |
| | I |
| | I |
! o '
A B CD E "
(0 A
(2) B
(3) D
(4) E

1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=24177]
2[Option ID=24178]

3[Option ID=24179]
4[Option ID=24180]

Sl. No.46
QBID:1033021

The relation between quality factor Q and relaxation time t of an oscillator 1s

(W being angular speed)

(1) W
St
(2) o= 53
W
(3) Q=wt
ey 1
wt
(1)1
(2) 2
(3) 3
(4) 4

s AT TSTEET F v 3 W % oy wew (Q) a fHHid wrer () H Haw &

w
1 Q=—
(1) "
(2) Q= i
w
(3) Q= wt
(4) = i
wt
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24181]
2[Option ID=24182]
3[Option ID=24183]
4[Option ID=24184]

Sl. No.47
QBID:1033022




What 1s the Lissajous figure of two rectangular S H M s (Simple Harmonic Motion)

of equal frequencies and phase difference of L 2

(1) Ellipse

(2) Circle

(3) Straight line
{4) Parabola
(1) 1

(2) 2

(3) 3

(4) 4

T ATTATHIT (AAATT) AT A=A A9 1 (SHMs) A= 7791 F=ia< 76977 2 F7
Frams FEiaET e 2

(1) S
(2) El
(3) #Hreft =T
(4) AT
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24185]
2[Option ID=24186]
3[Option ID=24187]
4[Option ID=24188]

Sl. No.48
QBID:1033023

When a body is set into oscillation by an external periodic force of the same
frequency as the natural frequency of the body, the phenomenon is known as

(1) Stiffening
(2) Resonance
(3) Damping
(4) Reverberation
(1) 1
(2) 2
(3) 3

(4) 4




% G arterd (T STaT 2, 98 Ta=aT Fgardt &

(1) A
(2) AT
(3) ATHET
(4) O
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24189]
2[Option ID=24190]
3[Option ID=24191]
4[Option ID=24192]

Sl. No.49
QBID:1033024

The equation for a wave travelling in x-direction on a string is

y = (30 cm) sin[(3'14 em )x — (314 s ')t]
What is the maximum velocity of a particle of the string?

(1) 9-4 m/sec
(2) 9-2 m/sec
(3) 9-4 cm/sec
(4) 9-0 cm/sec

(1) 1

(2) 2

(3) 3

(4) 4

e AT W x-FRem # = o A i §
y = (3-0 cm) sin[(3-14 cm )x = (314 s~ )]

TEHT F W FTFT ATAFAT AT FATE ?
(1) 9-4 Hi/H.
(2) 9-2 Hi/H.
(3) 9-4 T/
4) 9-0 FHT/.
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=24193]
2[Option ID=24194]
3[Option ID=24195]
4[Option ID=24196]

Sl. No.50
QBID:1033025
Which is the correct option 7
(1) The energy of any small part of a string remains constant in a travelling
wave.
(2) The energy of any small part of a string remains constant in a standing
wave.
(3) The energies of all the small parts of equal length are equal 1n a travelling
wave.
(4) The energies of all the small parts of unequal length are equal in a
standing wave.
1) 1
(2) 2
3) 3
(4) 4
LEREE koI I
(1) WA TR e EE g a A st A = 2
) FATE T | v vt F Bt e 7 e f et wwm T 2
(3) TATHT T | 7T 7RI TS F Bie Bt i we a6 2t g
4) TITE T H AHT FFAA FHETE F G B 7 w0 aw 2 2
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24197]
2[Option ID=24198]
3[Option ID=24199]
4[Option ID=24200]

Sl. No.51

QBID:1033026

The engine of a moving train sounds a whistle at frequency V. Then the frequency
heard by the passenger in the train is

(1)
(2)
(3)
(4

(1) 1




(2) 2
(3) 3
(4) 4

TF I F T 7 A A eafy fragt v § ) ww i § I vkt g i At
Framgfo g

(4) =

1) 1
(2 2
(3) 3
(4) 4
1[Option ID=24201]
2[Option ID=24202]

3[Option ID=24203]
4[Option ID=24204]

Sl. No.52
QBID:1033027

A plano convex lens of radius 350 cm 15 placed on a flat plate and illuminated by
monochromatic light gives the 6™ bright ring of diameter 0-68 cm. What is the
wavelength of the light source used ?

(1) 5000 A
(2) 6000 A
3) 5500 A
@ 6500 A

(1) 1

(2) 2

(3) 3

(4) 4




350 7T FH=aT F1 99-399 &9 UF 99T W2 97 T4 £ A7 UFAT T 5T TATH
T 97 0-68 FHT =T 1 22T 219 FAT FATAT & | T 0w ww qeprer 7 q4waed #7447

g7

(1) 5000 A
(2) 6000 A
(3) 5500 A
(4) 6500 A

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24205]
2[Option ID=24206]
3[Option ID=24207]
4[Option ID=24208]

Sl. No.53
QBID:1033028

For a zone plate the focal length of red colour is given by :

(fr. ty. fv are respective focal lengths for red, yellow and violet colours)

(1) f <fo
(2) fp=1fy
(3) tp =ty
(4) by = by

(1) 1

(2) 2

(3) 3

(4) 4

e & i (S ) ¥ o et i wrew f g
(2t fi, fy, fy F09T: A1, for vk Sy 7 o Frer 79 2)

(1) f < fy

(2) fr = fy

3) e

(4) fi = fy
(1) 1




(3) 3
(4) 4

1[Option ID=24209]
2[Option ID=24210]
3[Option ID=24211]
4[Option ID=24212]

Sl. No.54
QBID:1033029

The electron microscope offers better resolution capability as compared to the
optical microscope primarily because

(1) Electron microscope uses the shorter wavelength of radiation.
(2) Electron microscope uses better electronic circuits.
(3) Electron microscope uses complicated accessories.
(4) Electron microscope uses larger objective lenses.
(1) 1
(2) 2
(3) 3
(4) 4

THTETT qewEefT T qoET § 3oihei qewaefi £ e ey a=aw 2 & witE
(1) Forhg Tewasft F o Aorded A @ IwEm g 2

) Seieh qewaeft § Fzav frem ufrrg & sEm EE €

(3) Felhe A gemeeff # Sfeet ot (sr=aaT) 1 A EET £

(4) TR el § 72 T S6 T A AT 2

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24213]
2[Option ID=24214]

3[Option ID=24215]
4[Option ID=24216]

Sl. No.55
QBID:1033030

A tube of sugar solution 20 cm long is placed between crossed Nicols and
illuminated with light of wavelength 6 % 107 cm. If the optical rotation produced

is 13° and specific rotation is 65°/dm/g/cm’, then what will be the strength of the

solution used 7

(1) 100%
(2) 10%
(3) 50%

(4) 20%




1) 1
(2) 2
3) 3
(4) 4

20 FHT == 1+ F Fema i aftrer 21 wifaa e F i o= & qar

6 x 107 FHT T2 F TH1er |7 T4rg F1 Jrer F 1 7fF qewrefir o 130 74y Afore
T 65°/ZH T H AT AET E, 91 e e f o = e 2

(1) 100%
(2) 10%
(3) 50%
(4) 20%

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24217]
2[Option ID=24218]
3[Option ID=24219]
4[Option ID=24220]

Sl. No.56
QBID:1033031
Given below are two statements -

Statement I -

The magnitude of the emf ¢ induced 1n a conducting loop 15 equal to the rate at
which the magnetic field changes with time.

Starement IT -

If a conducting plate moves out of a magnetic field. the relative motion of the field

and conductor induced a current in the plate.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both statement I and statement IT are correct
(2) Both statement I and statement IT are incorrect
(3) Statement I 1s correct but statement IT 1s incorrect
(4) Statement I 1s incorrect but statement IT 15 correct
1) 1
(2) 2
(3) 3

(4) 4




fe T Rrau g

FITI :

UF FATAT Foot (1) F U BT a12F a9 (emf) e F7 THEATT TEHT 47 7T T87T
F AT UEAA F T AT FAAAE |

FYTII :

Tf2 UF FTAF T TEAHIT 4 T ATZT AT 2, AT AT AT TFaehi & Fit AT
i, = § EEg arr aRE AT 2

FULN FAAT & AT 7, A= 70 10 FFeai 7 |7 = I 397 7 A99 A

(1) FA9 1 T F499 [1 T4 T2 2
(2) FT | A7 F49 [1 T 79T 2
(3) F4T | LT &, AT w7 [ T99 2
(4) FAT | T4 £, 00T F47 [ 72T 2
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24221]
2[Option ID=24222]
3[Option ID=24223]
4[Option ID=24224]

Sl. No.57
QBID:1033032

Which of the statements given below are correct 7

A. An electric dipole has its least potential energy when it's moment is lined
up with the field E .

B. In a uniform electric field, the net force on an electric dipole is zero.

C. The electric dipole’s potential energy is defined to be maximum when

dipole moment is parallel to applied electric field.

D. The density of field lines in any region is inversely proportional to the
magnitude of the electric field in that region.

Choose the most appropriate answer from the options given below :

(1) B.C
(2) B.D
(3) C.D
(4) A,B

(1) 1

(2) 2

(3) 3

(4) 4




P Far A g Faarag 2 0

A. v FaerE foge 1 Fafas st Freaw 2t & 919 w3 st g
AT E FATTUF A TATHEMATE |

B. TFHaE AR AT . em Ry s g AT 21

C. Frem g & Fafas w3t aftmaw ofrnfm 2t & o= Gya gt
AT T R A F AT 2T |

D. it o= 7 o o= TareA W AT, s A W EEmE Eem aE F

TR F S[ERETITA T 2T 2 |

= a3 o fFFet § 7 79 I 39 F T4 Hiraw
(1) B,C

(2) B.D

(3) C,D

(4) A, B
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24225]
2[Option ID=24226]
3[Option ID=24227]
4[Option ID=24228]

Sl. No.58
QBID:1033033

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Starement A :

The electric potential inside a conductor is constant.
Reason R .

The net charge density inside a conductor is zero.
In the light of the above statements, choose the correct answer from the options

given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A is true but R is false
(4) A 1s false but R is true
(1) 1
(2) 2
3) 3

(4) 4




FazsTFam Rrawd: syt m As s EEF e aT o s F FEURF
ETH |

HIFATA -

T F Wi fFeE e faw (nemmm) ZErd
FITTR :

T ST % A o AT T e 2 # |

ST FAAT & AT H, A9 20 v e § ' 9850 39 7 9499 Fifen

(1) AFTREIMIATE AT R, AT AT =T=AT 2

2) A #iT R T41 77 §, i R, A F7 781 == 781 2
(3) AT Z, AT RATHT E

(4) A afFTRATE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24229]
2[Option ID=24230]
3[Option ID=24231]
4[Option ID=24232]

Sl. No.59
QBID:1033034

Match List [ with List I :

List I List I
A Inductance L TmA™
B. Magnetic field 1L Tm’A™
C.  Permeability L Tm'A
D. Magnetic energy Iv. NA'm™
Choose the correct answer from the options given below :
(1) A-IL B-III, C-1, D-1V
(2) A-IIL, B-1V, C-IIL, D1
(3) A-IV, B-IIL C-1, D-11
(4) A-IL B-IV, C-1, D-III
(1) 1
(2) 2
3) 3

4) 4




AT 15 A1 FqAT 17 Faers Ffe

L

D.

qAT 1

T S

E;

IL.

1.

V.

qAT 11
25T HIMETIT (TmA™)

2FAT |07 (Tm™A )
ZEAT |/ UTETIT (Tm'A)
1= ﬁ:&"ﬁﬂ_' #r! {NA']m']

= 7w o FEeat § 7 98 397 7 797 S

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

A-IL, B-III, C-1, D-IV
A-IL B-IV, C-I1, D-1
A-IV, B-II1, C-1, D-1I
A-IL, B-IV, C-I, D-1II

1[Option ID=24233]
2[Option ID=24234]
3[Option ID=24235]
4[Option ID=24236]

Sl. No.60

QBID:1033035

The concept of displacement current is introduced in which of Maxwell's law of

electromagnetics 7

(1)
(2)
(3)
(4)
(1) 1
(2) 2

(3) 3
(4) 4

First law
Second law
Third law
Fourth law




e F FemE-aradir et & & G foreemam et 7 e =01 afaqure
T T 2

(1) ECEIREEL

(2) ZaeT

(3) #rae Fm

4) =TT e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24237]
2[Option ID=24238]

3[Option ID=24239]
4[Option ID=24240]

Sl. No.61
QBID:1033036

The electric potential at Point P is

Qq=-12nC
E5m Em
| 6m
|‘;r 2 ‘Q _
Qy=+18nC F‘+—3m—»u3'+5"c
(1) 98-89 V
) 62:93 V
k)] 44-95 V
(4) 899V
(1) 1
(2) 2
(3) 3

(4) 4




&g P o e s =7 99 2o

Q1 ==12nC
Em B
:;, 6m ‘R:
Qy=+18nC Pr_3m__ @3=+6nC
(1) 9889 V
) 6293V
(3) 4495V
(4) 899 V
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24241]
2[Option ID=24242]
3[Option ID=24243]
4[Option ID=24244]

Sl. No.62

QBID:1033037

The magnetic field at a distance R from the centre of'a long wire of radius a(a = R)

varies
(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

inversely with R”
inversely with a
directly with R

directly with a




a FraT 150 T8 9 919 F ¥ 9 R (a > R) T T [T 97 7Ataq 2rar
(1) R* F SAATITAT

(2) a o SR ATITAT

(3) R % FRTITHT

(4) a F TR

(1) 1
(2 2
(3) 3
(4) 4
1[Option ID=24245]
2[Option ID=24246]

3[Option ID=24247]
4[Option ID=24248]

Sl. No.63
QBID:1033038

A circular loop of wire, 20 mm in radius carries a current of 8 A. The value of

energy density at the centre of loop is

(1) 1-28 % 107 J/m®
(2) 1-28 % 107° ¥m®
(3) 1-28 % 107 J/m®
(4) 1-28m x 107 Jm®

(1) 1

(2) 2

(3) 3

(4) 4

20 fr . Brom ¥ gfw g==r & 8 vt Bem arrafza 2 | s F e e St
I FTHA 2

(1 128 % 107 =/t
(2) 128 x 107° =/t
(3) 1-28 % 107 S=/AT
(4) 128 x 107 =/

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=24249]
2[Option ID=24250]
3[Option ID=24251]
4[Option ID=24252]

Sl. No.64
QBID:1033039

A plane wave -EI{}{' t) = EDI i approaches an interface (yz plane)

between two linear media with velocity v;. The value of Bg(x. t) in the reflected
wave 1s

E PR
{1} ﬂ E|{H1K wt) k
IIII'Ir'l
Eo |
(= kx = wl ¢
@ - e k
Vi
EDI il o0 = ) ¢~
(3) - e k
Vi
Eo e kors gl
@ 'Tf! ell'i K — wi K
1
(1) 1
(2) 2
(3) 3
(4) 4
TF qHAA TAE (x, 1) = E, gl e ] 3 ¥y et & SIS (y2 ) W

vy 39 H ATET & | T ET 9997 § By(x, t) FTHH 2

“} ﬂ ei{Kix - mﬂl'R
V1
EC‘JII = kx — wi ~
2 - k
(2) V,
Ol ik — wi
3 -——e Kk
(3) V,
EGI (= kx — wi «~
(4) —a k
V1
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24253]
2[Option ID=24254]
3[Option ID=24255]
4[Option ID=24256]




Sl. No.65
QBID:1033040

In the circuit shown below, the value of current i through the battery just after the
switch is closed is

100
AMAAA JJ
_ 20 mHE 100
10V T
-~
(1) 05 A
(2) 1-0 A
(3) 220A
(4) 0A
(1) 1
(2) 2
3) 3
(4) 4

fe R ot ¥ e s A F A TR T § AT FT O 2

10 Q
AN
| 20mH %1[1;1
10V T
.
(1) 05 A
(2) 10 A
(3) 20 A
(4) 0A
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24257]
2[Option ID=24258]
3[Option ID=24259]
4[Option ID=24260]

Sl. No.66
QBID:1033041




The internal energy of a Boson gas becomes zero at

(1) T<Tc
(2) T>Te
(3) T=1¢
(4) T=0

(1) 1

(2) 2

3) 3

(4) 4
A 9 T A ST 97 2 AT 2
(1) T<Te
(2) T=Tc
(3) T=T¢
(4) T=0

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=24261]
2[Option ID=24262]
3[Option ID=24263]
4[Option ID=24264]

Sl. No.67
QBID:1033042

A Carnot engine is made to work between — 23°C and — 223°C. Its efficiency is

(1 89%
(2) 80%
(3) 10%
(4) 20%
(1) 1
(2) 2
(3) 3
(4) 4




T FTEATE T4 - 23°C T497 - 223°C F 19 F14 FL AT T AHAT 20T

(1) 89%
(2) 80%
(3) 10%
(4) 20%

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24265]
2[Option ID=24266]
3[Option ID=24267]
4[Option ID=24268]

Sl. No.68
QBID:1033043

Mean free path varies

(1) linearly with number of molecules
(2) linearly with the diameter of the molecules
(3) inversely with the density of molecules
(4) linearly with the square of the diameter of molecules
(1) 1
(2) 2
3) 3
(4) 4
HTET qF T4 THAtag gar g

M LA T FEAT F AT (AT

@ IOTSH % A 3 AT (FAT)

() A F A F AAATLET (FAATLIE)
(@) FOTA F AT % 2 F AT (AT

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24269]
2[Option ID=24270]

3[Option ID=24271]
4[Option ID=24272]

Sl. No.69
QBID:1033044




When the temperature of a substance 15 ratsed from T; K to T; K. then change 1n
entropy 1s

(1) 1 E
i T1
@ (T, )
me log. T_
\ 1
3 S
me log. | — =
\ T‘ J
@ ' 5, 3§
mec log. | = —
|.T1 T2 i
(1) 1
(2) 2
(3) 3
(4) 4
o Tt =TS F AT T, K & T, K 927 747 £ 99 396 vt & wiade ge
TE
(1) =
(T, )
2 me log. | 7+
(2) ILT1 J
3 me log. |7
(3) ] T, J
F T )
melog. | = =
) : |,lT1_ TEJ
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24273]
2[Option ID=24274]
3[Option ID=24275]
4[Option ID=24276]

Sl. No.70
QBID:1033045

The work done in an adiabatic change in a particular gas depends upon only

(1) change in pressure
(2) change in volume
(3) change in temperature
(4) change in heat

1) 1

(2) 2




(3) 3
(4) 4

et oy i1 & ey o # T A w5 a2, =

(1) HERRIEEGR IR
(2) AT ¥ qiEaq a7
(3) ATTHTT H OiEaq o7
(4) FORT § THERA T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24277]

2[Option ID=24278]

3[Option ID=24279]

4[Option ID=24280]

Sl. No.71

QBID:1033046
A piece of 1ce of mass 10 kg 1s pushed with a velocity of 10 m/s along a horizontal
surface. The picce stops after travelling 30 meters due to friction between the picce
and the surface. If the latent heat of ice 1s 80 cal/g. then the mass of melted ice 1s

about

(1) 10 ¢

(2) 15 ¢

(3) 20 g

(4) 0
1) 1
(2) 2
(3) 3
(4) 4

10 F3IT. =990  UF T & 79 F 10 FE. F 397 7 s Aeg T gwr 74T |

THE 9 AFE F AU F FOW T 30 HT. 99 F VAT FF A147E | AT T F
FTAT 80 FAFTAIT. & 79 T+ AT aF F7 2509 o097 &

(1)

1-0 9.
1-5 9.
2:0 7.




1[Option ID=24281]
2[Option ID=24282]
3[Option ID=24283]
4[Option ID=24284]

Sl. No.72
QBID:1033047
Match List I with List IT :
ListI ListIT
[55)
A T I P
aS |,
aF
B. el ——— II. 4 i
av ).
C ﬂ_G 11} 5
] 3P . ]
3G
D. = = IV. vV
aT |,

Choose the correct answer from the options given below :

(1) A-1, B-II, C-III, D-1V
) A-III, B-IV, C-I, D-II
3) A-TV, B-III, C-II, D-I
4 A-TI, B-1, C-IV, D-III
(1) 1
(2) 2
(3) 3
(4) 4
=T 1% 7rer 7T 11 F7 frem Fifem
AT q=T 11
aU : 5
A =
aS
B. | L. T
LdV Jp
sl 24 111 S
: 3P .
D LA Y% V
: 3T :
= 2w FFeat § 7 9E 397 7 999 fiiaw
(1) A-1, B-II, C-1I1, D-1V
(2) A-IIL, B-IV, C-1, DI
(3) A-IV, B-III, C-1II, D-1

(4) A-IL, B-I, C-IV, D-III




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24285]
2[Option ID=24286]

3[Option ID=24287]
4[Option ID=24288]

Sl. No.73
QBID:1033048

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

Every thermodynamic system in an equilibrium state possesses internal energy
which is a function of state only.

Reason R .

In thermodynamic system, energy is conserved.

In the light of the above statements, choose the correct answer from the options

given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A is true but R is false
(4) A 1s false but R is true
(1) 1
(2) 2
(3) 3
(4) 4

T ET T gl AFETE ERE e AT O SEE IR F
ETH |

FraFaT4 -

AAAATEedT § I SwAmias A § [fEa aiafs st F=3 s=3ear 1 w99
T

FITOR :
TS FFa § ST AT g 2 |

TUTIE FEAT F ATATE H, A= B FweTt § 7 /99 397 #7597 fife
(1) A T R 3T 7e7 £ 9T R, A =i 78T =A=4T 2

(2) A #T R 3147 7= £, i R, A it w2t =T 79 2

(3) ATHE, AT RAATE

(4) AFTTE, AFTRATE




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24289]
2[Option ID=24290]

3[Option ID=24291]
4[Option ID=24292]

Sl. No.74
QBID:1033049

Given below are two statements :
Statement [ :

The change in enthalpy during an isobaric process is equal to the heat transferred.
Statement I

The internal energy of a system is the energy which is available for work in
reversible isothermal change.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both statement I and statement 11 are correct
(2) Both statement I and statement I1 are incorrect
(3) Statement I is correct but statement 11 is incorrect
(4) Statement | is incorrect but statement II is correct
1) 1
(2) 2
(3) 3
(4) 4
A ZrFA ET AU
FTl

THETH TR & Frere queaT (Thedt) § afady, et SO F 96 ghT E |

FYTI :
T T FT AAF F, AHATA YA TAaT & 714 g 3T 59 2 |

FULN FAAT & AT 7, A= 50 10 FFT 7w/ A= I 397 B A9T A

(1) FAT 1 A7 F97 11 297 7271 2
(2) FA9 | A7 F49 [ 347 T4 2
(3) FAT 1 T &, AT F47 11799 §
(4) FAT | 99 2, AT F47 1 787 2
(1) 1
(2) 2

3) 3




(4) 4

1[Option ID=24293]
2[Option ID=24294]
3[Option ID=24295]
4[Option ID=24296]

Sl. No.75
QBID:1033050

Which of the statements given below are correct ?

A For a closed system undergoing a cycle of processes, the cyclic integral
of heat is equal to the cyclic integral of work.

B. The mean free path of the molecules of a gas is independent of the
absolute temperature of the gas.

C. The work done by the system is zero in an isochoric process.

D. The internal energy of the system does not change in an adiabatic
process.

E. In an adiabatic process, temperature remains constant,

Choose the most appropriate answer from the options given below :

(1) A C
(2) B.C.E
(3) B.D.E
(4) AD
1) 1
(2) 2
(3) 3
(4) 4
EElElEEER IR B EacEE E

A. T 7% FRTT | F AT Fehr WA, T AT ST, T ot
FAFAETEETE |

B. 9 F oAt 1 "TeT g7 04, T4 F Fwe a0 Faw a5t 2
C. T AT Gfwar 7§ Fwrr gy By s e 2
D. wreR giwar § e & aiafis st afata a2 26 21
E. et wgTew wfeaT # ara Faa g e
Fr=r fEm o Feat 7 | 799 I 39T T AAT AT
(1) A,C
(2) B,C,E
(3) B.D.E
(4) A,D
(1) 1
(2) 2
3) 3
(4) 4




1[Option ID=24297]
2[Option ID=24298]
3[Option ID=24299]
4[Option ID=24300]

Sl. No.76

QBID:1033051
In a scattering by elementary particle experiment, the scattering cross-section
depends upon the energy (E) of the incident particle, Planck’s Constant (h) and
Velocity of Light (c). On the basis of dimension, scattermng cross-section would be
proportional to

(1) (he ]2
L E

(2) (he )2
| E?

(3) [ h }°
\ C

4 h2
Ec

(1) 1

(2) 2

(3) 3

(4) 4

HTTer FOT o TANT ZTLT THI0T |, THT AT F12 At F97 F1 F47 (E), =0+
T (h) T47 T79r F 397 (¢) 77 7w F7a7 2| Furat F aware 77 w=hi S

() [he )2
| E
@ [he }?
B
o 0
kE.C
@
Ec
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24301]
2[Option ID=24302]
3[Option ID=24303]
4[Option ID=24304]

Sl. No.77




QBID:1033052

Match List [ with List I1 :

A
B.

C.
D.

List1
Frank-Hertz Experiment

Zeeman Effect

Davisson-Germer Experiment

Stern-Gerlach Experiment

IL

111
IV.

ListI1
Wave nature of particle

Quantization of energy level of
electron in atom

Existence of spin

Space quantization of angular
maoment

Choose the correct answer from the options given below :

(1) A-IV, B-IL, C-1, D111
(2) A-1, B-IL, C-III, D-1V
(3) A-IL, B-1V, C-1, D111
(4) A-IL, BV, C-II, D1
(1) 1
(2) 2
(3) 3
(4) 4
AT 1% 77y 7=t 11 7 e fifem
qHT 1
A. % g2 WA L
B. ST T IL
SEGEE el pin ML
D. AT AT Iv.

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

A-1V, B-1I, C-1, D-1II
A-l, B-II, C-III, D-IV
A-IL, B-IV, C-I, D-1II
A-IL B-1V, C-III, D-1

1[Option ID=24305]
2[Option ID=24306]

qHT 11

T T T T

TEHTY H THAFIIOT F FHAT w7 FT
EIEEILIE

U FT ATEA

T AT KT F T
A= B o EeeT § 7 /e 399 F°7 999 e




3[Option ID=24307]
4[Option ID=24308]

Sl. No.78
QBID:1033053

The expectation value << X = of the position of an electron trapped 1n a box of
width L 15

(1)

(2)

(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

L =T=TE % v "= " | faa soiei- i feufe s aifem ar <X> 2
(1)

< e o

(2)

(3)

(4)
(1) 1
(2) 2
(3) 3
(4) 4

el V[l S

1[Option ID=24309]
2[Option ID=24310]
3[Option ID=24311]
4[Option ID=24312]

Sl. No.79
QBID:1033054

In black body radiation in a cavity. photons are created and annihilated as a result of
emission and absorption by the walls of the cavity because

(1) Photon has one spin.
(2) Entropy of the photons is very high.
(3) Chemical potential of the photon 1s zero.
(4) Photon obeys Pauli’s exclusion principle.
(1) 1
(2) 2
3) 3

(4) 4




Fret a5 § Fredia BfFw § werden F51 g9e a4r e, faret g e
TAT TS & TIOTH=T 2T & FI1F

(1) FIeH F1 O TF & 2|

(2) wieia & merdt TET TR

(3) B FT T T e d

4) et et st T 1 e wEr |

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24313]
2[Option ID=24314]

3[Option ID=24315]
4[Option ID=24316]

Sl. No.80
QBID:1033055
The de-Broglie wavelength of an electron in a metal at 27°C 15

(Boltzmann Constantk = 1-38 X 107 T mol™ K

Planck's Constant h=6-62 X 107 Js) is

(1) 6-2 nom
(2) 3-1 nom
(3) 31 pm
{4) 62 pm

1)1

(2) 2

(3) 3

(4) 4

27°C w7 ferelt g ® soiaeiA fT F-ARTEAT FEE F 7 7 ufvwers f
(Trezaae A k=138 X 107 Jmol ' K

i FaaFE h=662 X 1077 Js)
(1 6:2 nm (4T #T.)
(2) 3-1 nm (497 #T.)
(3) 3-1 pm (Fr=T 1)
(4) 6-2 pm (1T HT.)

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=24317]
2[Option ID=24318]
3[Option ID=24319]
4[Option ID=24320]

Sl. No.81
QBID:1033056

An electron is known to have a speed of 200 m/sec to an accuracy of 1%. What is
the minimum uncertainty with which its position can be estimated ?

(1) 14-46 pm
(2) 28-93 uym
(3) 0-2846 pm
(4) 0-1446 pm

1) 1

(2) 2

3) 3

(4) 4

1% FRergaT o7 vF T da 1 =1 200 HF 2 Fraaw afFtaaar w1 gef G
et gt F7 sme 2T 2

(1) 14-46 pm (ATZFT #Y)
(2) 28:93 um
(3) 0-2846 pum
(4) 0-1446 pm
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24321]
2[Option ID=24322]
3[Option ID=24323]
4[Option ID=24324]

Sl. No.82
QBID:1033057

Two isotopes of Chlorine E?CI and ?;CI do not have same

(1) Colour (Yellow)
(2) Suffocating odour
(3) Efficiency (as poisons and bleaching agents)
(4) Boiling and freezing points
1) 1
(2) 2
3) 3

(4) 4




FATE ¥ 21 et 35C| war 37C| # fre v A grav )

(1) it 7

(2) TH-ATZ T

3) ZeraT (s 747 B #19F F =7 H)
4 FAATF 747 fFEArw

(1) 1
(2 2
(3) 3
(4) 4
1[Option ID=24325]
2[Option ID=24326]

3[Option ID=24327]
4[Option ID=24328]

Sl. No.83
QBID:1033058

An electron (m, = 0-511 MeV/c”) has an estimated momenta of 2-000 MeV/c, then
its total energy will be

(1) 2-000 MeV
(2) 2-064 MeV
(3) 0
(4) 2-511 MeV

(1) 1

(2) 2

(3) 3

(4) 4

TF THFTOT (my = 0-511 MeV/c?) FT 73T 2:000 MeV/c, T T FAT 2007

(1) 2:000 MeV
2) 2:064 MeV
(3) 0
) 2:511 MeV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24329]
2[Option ID=24330]
3[Option ID=24331]
4[Option ID=24332]

Sl. No.84
QBID:1033059




According to Moseley’s law, the frequency of the characteristic X-rays is
proportional to the square of

(1) Atomic number of the element
(2) Atomic weight of the element
(3) Mass number of the element
(4) Density of the element

(1) 1

(2) 2

(3) 3

(4) 4

AT F FRrawTaTe, ataerers v-fer 7 gt s =9 aarrdr g

(1 AT F TLHTY] FHF
(2) A F TLAT 91T
(3) T & HEfd FHT
(4) T F T

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24333]
2[Option ID=24334]

3[Option ID=24335]
4[Option ID=24336]

Sl. No.85
QBID:1033060

When an X-ray's photon of wavelength (-1 nm collides with an electron and is
scattered through 90°. What is the new wavelength of the X-ray’s photon ?

(1) 0-2048 nm
(2) 0-1048 nm
(3) 0-1248 nm
(4) 0-1024 nm

(1) 1

(2) 2

(3) 3

4) 4

0-1 &7 ff Ferded #7 vF van-GEor i, UF geia 7 a2 797 90° 7
e 27 stmar 2 1 v wel A e e g 0

(1) (0-2048 nm (a:ﬁ'ﬂﬂ"&}

(2) 0-1048 nm

(3) (0-1248 nm
(4) 0-1024 nm




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24337]
2[Option ID=24338]

3[Option ID=24339]
4[Option ID=24340]

Sl. No.86
QBID:1033061

What is the energy of emitted photo-electron if light of frequency 1 X 10" Hz is
incident on a sodium target 7

{Work function of Sodium =2-5eV
Planck's constant, h = 6-63 % 10 i Is)

(1) 2:01 % 107"
(2) 2-:01 % 107
(3) 2:63 % 107°]
(4) 2:63 % 107"
(1) 1
(2) 2
(3) 3
(4) 4

afE 1 x 10" (Hz) ETor ATg FT THT9T ATSAH AT TF AT 2 £ 97 Featoa
gTefr-Zeral if FAT T E ?

(AETAFTFAFTAT = 2-5eV
v FaaTE (h) =663 X 107 Is)

(1) 201 % 107" 1 ()
(2) 201 % 10777
(3) 263 x 107°"]
(4) 263 x 10771
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24341]
2[Option ID=24342]
3[Option ID=24343]
4[Option ID=24344]

Sl. No.87
QBID:1033062




Rutherford scattering formula for scattering of Alpha particle by a thin foil depends
upon the Kinetic energy (E) of the Alpha particle as

(1)
(2)

(3)

(4)

m m
m|— r1;1=|_. L

(1) 1
(2) 2
3) 3
(4) 4

wfEs F97 (B) 77 R v Rdr wvar 2

(1)
(2)

(3)

(4)

ml= m|= i

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24345]
2[Option ID=24346]

3[Option ID=24347]
4[Option ID=24348]

Sl. No.88
QBID:1033063

The radius of the innermost orbit is customarily called the Bohr radius of the
hydrogen atom. Its value is

(1) (-5292 picometer
(2) 52-92 picometer
(3) 5-292 picometer
(4) 529-2 picometer

(1) 1

(2) 2

3) 3

(4) 4




BTES I TTATY F SA7aH F4 ATGTOE: Tg7 Bream Fgamar § | THF A §
(1) 0-5292 frFTHT=7 (pm)
(2) 52-92 FsTHTET
(3) 5-292 frFrHt=T
(4) 529-2 frFrHT=T
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=24349]
2[Option ID=24350]
3[Option ID=24351]
4[Option ID=24352]

Sl. No.89
QBID:1033064

In a CE configuration of npn transistor the base curve looks like that of

(1) Zener diode
(2) LED
(3) Ordinary diode
4) Photodiode

(1) 1

(2) 2

(3) 3

(4) 4
T CE AUTE AT npn TITo27 § ATeT 9% A9 F 7597 ga1 2
(1) EIGESE T =
(2) T T
(3) AT STATE
(4) FIEETATE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24353]
2[Option ID=24354]
3[Option ID=24355]
4[Option ID=24356]

Sl. No.90
QBID:1033065




Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion 4 :

Number of atoms present in the unit cell of hep structure is 6.

Reason R -

Packing factor in hcp structure is 68%.

In the light of the above statements, choose the correct answer from the options

given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A 1s true but R is false
(4) A is false but R is true
(1) 1
(2) 2
(3) 3
(4) 4

feRZTFm AT walftm AFera T e T S\ F FEOURF

=TH |

HTAFITA :

hep HE=AT T Iz 7 § 6 THT 394 2 |
FITUR :

hep HE=AT H HFA 0TS 68% 7 |

I FEAT F AATE H, A B Fweat § 7 957 397 #5947 fife

(1) AFTRAA AT E 7 R, AFT AT =TEATE

(2) AFTRIA A E A R AT T AR AE 2
(3) AT E, AFT R AT 2

(4) AFaT g AfFTIRATE

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24357]
2[Option ID=24358]

3[Option ID=24359]
4[Option ID=24360]

Sl. No.91
QBID:1033066




The emitter current for the pnp transistor is

0-10V
R =10k Rg =36k
22 kD
Rg=1kQ
(1) 10 mA
() I mA
3) 1-8 mA
(4) 11 mA
(1) 1
(2) 2
(3) 3
(4) 4
pnp Zifsre & foro (Icaes um) 2|
0-10V
Rq =10 kQ Re=3-6kQ
2:2 kﬂé
Rg = 1kQ

(1) 10 mA (Fr. wiewe)
(2) I mA
(3) 1'8 mA
() 11 mA
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24361]




2[Option ID=24362]
3[Option ID=24363]
4[Option ID=24364]

Sl. No.92

QBID:1033067

Given below are two statements ;

Starement I :

Mobility of electron is negative and hole is positive.

Statement I :

Mobility of electrons and holes are both positive.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Both statement [ and statement 11 are correct
Both statement [ and statement 11 are incorrect
Statement [ is correct but statement I is incorrect

Statement [ 1s incorrect but statement 11 is correct

DT T

FHT

T FT AT FOTTeRTF AT 217 T gATeHF et 2

FeT Il -

T TAT 21 AT H7 i efreaT gareTs gt 2

TULNE FAAT & AT |, A4 (20 70 FFeai § 7 999 ITYF ITL F 49 HIA0

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

F49 | 7 F49 11 T491 727 £
FT | AT F97 11 FAT 17 2
F49 | 7T 2, AT T4 [1 797 2
FAT 1T 2, AT FAT I AR 2

1[Option ID=24365]
2[Option ID=24366]
3[Option ID=24367]
4[Option ID=24368]

Sl. No.93

QBID:1033068




Among following applications, which is the correct application of transistor ?

(1) Clamper
(2) Rectifier
(3) Clipper
(4) Switch
(1) 1
(2) 2
(3) 3
(4) 4
ﬁ_ﬂ' qu.l Iif ﬁl- :xlt :=:|:\ --E E\'ﬂ—ﬁ G qq‘l il %-

(1) v (FATT)
2) Tt (FEEER)
3) et (FHfem)

@) fea

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24369]
2[Option ID=24370]

3[Option ID=24371]
4[Option ID=24372]

Sl. No.94
QBID:1033069

Closed loop voltage gain of an inverting amplifier is given by

(1) The ratio of input resistance to feedback resistance.
(2) Feedback resistance divided by input resistance.
(3) Input resistance multiplied by feedback resistance.
(4) Difference of input resistance and feedback resistance.
1) 1
(2) 2
(3) 3
(4) 4

T gfa=TH mEdE fr AT e Ay ARy e v 2
(1) e wiaery Fan gl feere 1 e |
(2) 7 fAfeme wfarg 71 AR aEg F g ag O
(3) e gy &1 g ffase affwre & o #7707
(4) e afawrg aan - ffere wiwae 1 9737




(2) 2
(3) 3
(4) 4
1[Option ID=24373]
2[Option ID=24374]

3[Option ID=24375]
4[Option ID=24376]

Sl. No.95
QBID:1033070

When binary 110-001 is converted to a decimal number the answer is

(1) 7-125
(2) 6-125
(3) 7-75
4) 675

(1) 1

(2) 2

(3) 3

(4) 4

feamard === 110-001 % Z9r== Tt § F299 T HH £

(1) 7-125
(2) 6:125
(3) 775
(4) 675

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24377]
2[Option ID=24378]
3[Option ID=24379]
4[Option ID=24380]

Sl. No.96
QBID:1033071




Packing fraction of bee, foe and sc can be represented as

{Where, fce — face centered cubic

sc — simple cubic

bec — body-centered cubic systems)

(1) fec=sc> bee
(2) sc = bee >fee
(3) sc < bee <fec
(4) bee <foec<sc

1) 1

(2) 2

(3) 3

(4) 4

bec, fee TAT sc FT T TATRT 77 7 At G smar 2
(&, fec — % H22 FEF
sc - AT FfEw

bee — ATTET H2ZE T+ Ffe=w)

(1) fce = sc = bec
(2) sc > bee = fec
(3) sc < bee < fec
(4) bece < foe < sc

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24381]
2[Option ID=24382]
3[Option ID=24383]
4[Option ID=24384]

Sl. No.97
QBID:1033072




In the following transistor circuit, p = 100 and I is negligible. The transistor

currents are

[Given, Vee =0-7 V]

330K

(1) Ic=1mA, Ig=1mA
(2) Ic =001 mA, Iz = 1 mA
(3) Ic = 1 mA, I = 0-01 mA
(4) Ic =01 mA, Iy =0-01 mA
(1) 1

(2) 2

(3) 3

(4) 4




e Zifsrer afra |, B = 100 9T 1o 79799 8 | Zifee g &

[RAITTATE, Ve =0-7 V]

330 Kg 1K
____5 V
(1) Ic=1mA, Ig=1mA
(2) I- =001 mA, Ig=1 mA
(3) Ir=1mA, Ig=001 mA
(4) Ir=01mA, Ig=001 mA
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24385]
2[Option ID=24386]
3[Option ID=24387]
4[Option ID=24388]

Sl. No.98
QBID:1033073




Three audio signals are given in the summing amplifier as shown in the figure.
What 15 the ac output voltage among the following options 7

100 kO
A
Chord 1 20 ko2
100 MV o—AMAA 15V
Chord? 20 kQ N
200 m\/° AMAAN o 741 C & Vuu!
Chord 3 m
(a2
200 mV | s
(1) LR
) =3 ¥
(3) 31V
@) 27V
1) 1
(2) 2
(3) 3
(a) 4

e oy  Tormmo o Gifirs v § 17 =1 "% G5 7, fants gemad T e e
FEeTTH A FTE?

Chord1  20KkQ
100 MV o—AAAA—— 15V

Chord 2 20 k02 =

200 mVo—"VWWA L, Ag Vout
—AAAN—
200 mV T

(1) ~27V
(2) ~31V
(3) 31V
(4) 27V

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24389]
2[Option ID=24390]




3[Option ID=24391]
4[Option ID=24392]

Sl. No.99
QBID:1033074

Given are the following equations.
A A+B_-AB
B. A+A=A

C. A+BC=(A+B)C
D A+AB=A

Choose the correct answer from the options given below :

(1) BandD
2) AandC
(3) CandD
(4) Aand D

(1) 1

(2) 2

(3) 3

(4) 4
fed o wefferror 21
A A+ B_AB
B. A+A=A
C. A+BC=(A+B)C
D. A+AB=A
#r=r 2w o FEwet § |7 7E 39 T 997 fiie
(1) B#TD
(2) A#TC
(3) C#HTD
(4) AFTD

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24393]
2[Option ID=24394]
3[Option ID=24395]
4[Option ID=24396]

Sl. No.100
QBID:1033075




In binary arithmetic circuits

A 1-1=0
B. 0+1=0
C 1+1=10
D 10+1=111
Choose the correct answer from the options given below :
(1) Aand B
(2) Band C
(3) Aand C
(4) Cand D
(1) 1
(2) 2
3) 3
(4) 4
Faarard i afrrar #
A, 1-1=0
B. 0+1=0
C. 1+1=10
D. 10+1=111
= 2w o e § 7 798 397 #1747 fife
(1) A#TB
(2) B#7 C
(3) A#TC
(4) C#7 D
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24397]
2[Option ID=24398]
3[Option ID=24399]
4[Option ID=24400]




